Typos in Micro or Macro as a 2nd Language
Prepared by Martha Olney

If you find other typos, please email them to me at olney@berkeley.edu

	Date typed up
	Micro or Macro?
	specifics

	2/1/11
	Micro pg 27
	Last paragraph above 1st tip, last line, should read “is 200/150 – 4/3 or 1.33 bushels of corn.” (not wheat)

AND

1st paragraph below 1st tip, should read “In Taft County . . . the opportunity cost of 1 bushel of corn in Taft County is 50/100 = 0.5 bushels of wheat.”
AND  
next paragraph should read “Flip it over: The opportunity cost of 1 bushel of wheat in Taft County is 2/1 = 2 bushels of corn.

	2/1/11
	Macro pg 31
	Last paragraph above 1st tip, last line, should read “is 200/150 – 4/3 or 1.33 bushels of corn.” (not wheat)

AND

1st paragraph below 1st tip, should read “In Taft County . . . the opportunity cost of 1 bushel of corn in Taft County is 50/100 = 0.5 bushels of wheat.”

AND  

next paragraph should read “Flip it over: The opportunity cost of 1 bushel of wheat in Taft County is 2/1 = 2 bushels of corn.

	2/1/11
	Micro pg 50
	“Elasticity” should be an <a> head.  

AND

Add to TOC

	2/1/11
	Micro pg 142
	Answer #2, numbers are all based on quantities of 10 and 11.  Correct answer is:  “The quantity effect is an increase in revenue of $30:  ($30 x 101) – ($30 x 100) = $3,030 - $3,000 = $30.  The price effect is a decrease in revenue of $202:  ($28 x 101) – ($30 x 101) = $2,828 - $3,030 = -$202.  Marginal revenue is -$172 = $30 - $202, or ($28 x 101) – ($30 x 100) = $2,828 - $3,000 = -$172.”

	4/8/11
	Macro pg 310
	Answer #15f, should be shift UP of C (not shift down)

	5/2/11
	Macro pg 133
	Second sentence at top of page, switch “exports” and “imports.”  Corrected sentence is then:  “When the dollar depreciates or falls relative to foreign currency, our imports exports go up and our exports imports go down, raising net exports.”

	11/19/14
	Macro pg 323
	Answer #8 at the very top of the page, change “decreased” to “increased.”  Corrected sentence is then:  “U.S. reserve accounts of foreign currency decreased increased.”

	12/1/14
	Macro pg 214
	Should read 20 million not 20 billion in the paragraph right below the Tip:

"Consider two banks: Bank A has a reserve balance of $100 million, but its required reserves are $120 million; it is $20 billion million short of reserves.



	9/6/15
	Macro pg 247
	Third bullet, should read current price is above (not below) equilibrium.  Corrected sentence: “Excess supply in a market means that the current price is below above the equilibrium price.”

	9/6/15
	Macro pg 163
	As of February 2014, the chair of the Federal Reserve is Janet Yellen, not Ben Bernanke.

	9/22/15
	Micro pg 51
	At the very top of the page, change “rise” to “fall” in this sentence:  How much does quantity of spiral notebooks demanded rise when pen prices rise fall?

	1/14/2016
	Macro pg 158
	Edit sentence to delete phrase:  “The labor force is said to be fully employed when there is no cyclical or structural unemployment.”

	7/31/2017
	Macro pg 317
	Edit answer to #4b: “Increased interest rates: decreases money demand; movement along the MD curve down and to the right up and to the left.”


